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(4)

1500

2005

MJ ki
kg-CO,
. MJ

MJ
kWh/ | 9.8 |MJ/kWh M3/
A) 1 m/ > 450 |MI/m° MI/
LP kg/ | 50.2 |MJ/Kkg MJI/
/ | 36.7 MJ/ MJ/
A / | 39.1\MJ/ MJ/
/ | 382 |MJ/ MJ/
MJ/




M - ki

(kD MJ><0.0258 GJ/kl =1000 GJ 1000MJ
g kg—C02 '
MJ
2 kwh/ > 0.555| kg-C0O,/kWh kg-CO,/
A 1 md/ |x<| 2277| kg-CO,/m* kg-C0,/
LP kg/ 3 3.000| kg-CO,/kg kg-C0,/
/ | 2.489| kg-C0,/ kg-C0,/
A / | x 2710| kg-C0,/ kg-C0,/
/ |x< 2.619| kg-C0,/ kg-C0,/
kg-CO,/
() MJ (kl)
(tCO2) t, ki, 1,000Nm3
> GJ/t, GJ/KI, GI/1,000Nm3
> tC/GJ
><44/12
1
2
http://www.env.go.jp/earth/ghg-santeikohyo/material/denkihaishutu.html
1 1
KI/ (KI/ )= ( (h)
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y = 783.33x + 133300
R? = 0.8269

200

400

600

800

1000

1200

1400 1600 1800 2000




